WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33168	API No. 15007-22863 0000
Name: WOOLSEY OPERATING COMPANY, LLC	County: Barber
	120' E of_w2_sw Sec. 32 Twp. 32 S. R. 12 East West
City/State/Zip: Wichita, Kansas 67202	1312' feet from(S)/ N (circle one) Line of Section
Purchaser: Bluestem Gas Marketing / Plains Marketing	780 feet from E /(W) (circle one) Line of Section
Operator Contact Person: Dean Pattisson, Operations Manager	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-4379 ext 107	(circle one) NE SE NW (SW)
Contractor: Name: Duke Drilling Co., Inc.	Lease Name: SHERRY Well #: 1
License: 5929	Field Name: Medicine Lodge - Boggs
Wellsite Geologist: Wes Hansen	Producing Formation: Mississippian
Designate Type of Completion:	Elevation: Ground: 1813 Kelly Bushing: 1824
New Well Re-Entry Workover	Total Depth: 5000 Plug Back Total Depth: 4924
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 271 Feet
✓ GasENHRSIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from n/a
Operator:	feet depth to w/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan AHT NH 7-3-08 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 7000 ppm Fluid volume 725 bbls
Plug Back Total Depth	Dewatering method used Haul off free fluids and allow to dehydrate
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: n/a
	Lease Name: License No.:
12/14/04 12/28/04 01/17/05 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R 🗌 East 🗸 West
Recompletion Date Recompletion Date	County: Docket No.: D-
Kansas 67202, within 120 days of the spud date, recompletion, workove information of side two of this form will be held confidential for a period of 1	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regular herein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: Dean Pattisson, Operations Manager Date: October 19, 2007	Letter of Confidentiality Received
Subscribed and sworn to before me this 19.44 day of	If Denied, Yes Date:
20_07	Wireline Log Received
	Geologist Report Received RECEIVED KANSAS CORPORATION COMMISSION
Notary Public: Weryl L. King	
Data Commission Evaluation (12/07/2010)	MERYLL KING OCT 2 2 2007
	CONSERVATION DIVISION

	OI SEV OBERA	40	Side	Two					•
Operator Name: WO	OOLSEY OPERA	TING COMPANY, LL	.C Lease	Name:	SHERRY	AMP 9	Well #:		
Sec. 32 Twp. 32	S. R. 12	☐ East	County	Barbe	er			,,,,	
tested, time tool open temperature, fluid rece	and closed, flowing overy, and flow rates	nd base of formations pe and shut-in pressures, v if gas to surface test, al nal geological well site re	whether sh long with fi	ut-in pre	ssure reached	static level, hydro	static pressur	es, botto	n hole
Drill Stern Tests Taker (Attach Additional S		✓ Yes		VΓ	og Formatio	on (Top), Depth a	nd Datum		Sample
Samples Sent to Geo	logical Survey	Yes No		Nam			Top 3805		Datum 1981
Cores Taken		☐ Yes ✓ No		Elgin Toror			3951		2127
Electric Log Run		✓ Yes No		Doug			3961		2137
(Submit Copy)				Lansi			4120		2296
List All E. Logs Run:					Kansas City		4590		2766
Compensated N	Jeutron Density	, PE			ssippian		4670	_	2846
Dual Induction	Cation Denoit	, , <u> </u>		Viola	• •		4948	-	3124
Sonic	Ce	ment Bond		RTD			5000	_	3176
		CASING	RECORD	✓ Ne	w Used				
		Report all strings set-c				ion, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs./		Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	14 3/4"	10 3/4"	10 3/4" 32# / ft		271'	Class A	200	3%cc, 2	2%gel
Production	7 7/8"	4 1/2"	10.5#	/ ft	4999'	Class H	250	10% sa	ılt, 10% gyp
		ADDITIONAL	CEMENTIN	10 / 501	JEEZE RECORD				
Purpose:	Depth	Type of Cement	#Sacks		SEEZE NECOND		ercent Additives		
Perforate	Top Bottom		#Jacks					•	
Protect Casing Plug Back TD Plug Off Zone	MH 6114								
Shots Per Foot		ON RECORD - Bridge Plug Footage of Each Interval Peri				cture, Shot, Cement		rd	Depth
4	4 4664-4684' Mississippian				Acid: 1150 gal 10% HCL same				same
					Frac: 5,196 bbl treated water, sam			same	
					91,900# 16/30 sand and 9,600# CRC sand				
								·	
				· · · · · · · · · · · · · · · · · · ·					
TUBING RECORD	Size 2 3/8"	Set At 4730'	Packer A	t	Liner Run	Yes 📝 No			
Date of First, Resumerd Production, SWD or Enhr. Producing Method Gas Lift Other (Explain)									
Estimated Production		Bbls Gas	Mcf	Wate	er B	bls. G	ias-Oil Ratio		Gravity
Per 24 Hours	10	15			90,		1500 : 1		•
Disposition of Gas	METHOD OF C	OMPLETION			Production Inter				
Vented Sold	Used on Lease	Open Hole	✓ Perf.		Oually Comp.	Commingled		,	

ALLIED CEMENTING CO., INC. 20271

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE PODOT:
	- par par par
DATE Q-30-04 30 TWP. RANGE	CALLED OUT ON LOCATION JOB START JOB FINISH
LEASES heray WELL# / LOCATION /604.	DOUNTY STATE
	Syphillroad Darba KS
OLD OR NEW (Circle one) 4/45 to Tan	Latter 125/e
CONTRACTOR Duke 5	OWNER Woolsey
TYPE OF JOB LONG STRENG. HOLE SIZE 7 90. 5000	CEMENT
CASING SIZE 4 2 DEPTH 5001	AMOUNT ORDERED 250 of H-108 can 106
TUBING SIZE DEPTH	Dalt 6 # Kolonal + 88FL-160550
DRILL PIPE DEPTH TOOL all down DEPTH 4961	6940 6, Egel claper 500 gal ASE
PRES. MAX 700 MINIMUM 300	COMMON_ 15 _@_7.85_/17.75
MEAS. LINE SHOE JOINT 3939	POZMIX 10 @ 440 41.00
CEMENT LEFT IN CSG. 396E	GEL / @ 1/1.00 11.00
DISPLACEMENT 8134 hbs 25 K-4 Lat	CHLORIDE@
	FL-160 188 @ 8.00 1504.00
EQUIPMENT	Gyp Seal 24 @ 17.85 428.40
PUMP TRUCK CEMENTER	13A1+ 27 @ 7.50 202.50
#352 HELPER May	Kolseal 1500 @ 150 750,00
BULK TRUCK	<u> </u>
#355 DRIVER Jerry BULK TRUCK	ASF 500 gl. @1.00 500.00
# DRIVER	@
	HANDLING 361 @ 1.35 487.35 MILEAGE 7 × 361 × 05 150,00
REMARKS:	MILEAGE / X.36/ X.05 150.00 Minchig TOTAL 6762.70
Liston bottom break resculation	
Plemp Buch alig , at mouse	SERVICE
Dump 350 se Cornert Shut down	
wash Rumps lines plant duplaces	
blis on displacement - a 15 bbl of	PUMP TRUCK CHARGE 1.3 90, 00 EXTRA FOOTAGE @
Company mans regest float	MILEAGE 7 @ 4.00 28.00
ele hold	MANIFOLD@
	<u> </u>
SWADONED I Jack	<u> </u>
CHARGE TO: COOLEY	TOTAL 1418,00
STREET	101AL 1-71-51-0
CITYSTATEZIP	DI LIC O EV O LE POYTE COM
	PLUG & FLOAT EQUIPMENT
	20-Resig Spratchere @ 29.00 580.00
	15 atch downplus @300.00 300.00
To Allied Cementing Co., Inc.	1- AFU Floot she @200,00 200,00
You are hereby requested to rent cementing equipment	8-1 mboleyus @55.60 440.00
and furnish cementer and helper to assist owner or	<u> </u>
contractor to do work as is listed. The above work was	TOTAL 1520.00
done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	TOTAL DELOTED
CONDITIONS" listed on the reverse side.	TAX
	TOTAL CHARGE
	DISCOUNT IF PAID IN 30 DAYS
	RECEIVED
SIGNATURE DOWN	PPLICABLE TAX S NANSAS CORPORATION COMMISSI
Wills	BE CHARGED PRINTED NAME OCT 2 2 2007
UPQ.	N INVOICING PRINTED NAME OCT 27 2001

- ALLIEF CEMENTING CO., INC.

REMÎT TO P.O. B RUSSI		NSAS 6766	55			• · · ·	SERV	VICE POINT:	eine L.D.G
DATE 12-15-04	SEC.	TWP.	RANGE 12W	}	CALLED OUT 12:30 AM.		LOCATION	JOB START	JOB FINISH
LEASE Sherry	س ا	#/	LOCATION /	60	4 BXP.H.1		D	COUNTY	STATE
OLD OR NEW (Cir	cle one)	· · · · · · · · · · · · · · · · · · ·	4.25	1	1/2 3/E in	To			
CONTRACTOR (DoKe	#5		-	OWNER 4	100	LSey	OPero	Ting

							<u> </u>	
OLD OR NEW (Circle one)	4.25	11/3	, 3/E in	iTa			
	Duke # 5		<u> </u>		. —	Sey	DPera	Ting
TYPE OF JOB			}					
		275		CEMENT			* * *	
CASING SIZE	10 3/4 DEP	TH2712/	<u> </u>	AMOUNT (DRDERED	200	sx"A"+.	3%CC+
TUBING SIZE	DEP	TH	1	2% C	حدا ا			
DRILL PIPE 4	41/2 DEP	TH 275			-			
TOOL	DEP	TH						
PRES. MAX 3	OGPST MIN	IMUM —	!	COMMON	200	_	@_7.85	1570.00
MEAS. LINE	SHO	E JOINT 15	=7	POZMIX			@	
CEMENT LEFT				GEL	U		@ //.00	UILA
PERFS.				CHLORIDE	7		@ 33.00	
DISPLACEMEN'	I Frash Wat	in 25B	B15,	ASC			@	2011 40
	EQUIPMENT						@	
- /	<i>:</i>						@	<u> </u>
PUMETRUCK	CEMENTER Dav	10/11/					@	·
#265	HELPER B://	_					@	
BULK TRUCK	THEFTER 13.11	///	 ,				@	
#364	DRIVER JERA	. (@	
BULK TRUCK	DIGITER OFFICE	, 					@	
#	DRIVER						@	
11	DICEVER		<u> </u>	HANDLING	21	/	@ 1.35	28485

REMARKS:

REMARKS:	MILEAGE 7 x 21/ x.05 /50.00 M: n chy TOTAL 2279.85
Pife on Bottom Break Line Dump 2005x A"+3% cc+2% Gel DisPlace	SERVICE
W/Fresh Water Sow Rate	DEPTH OF JOB 27/
Big Down cement did Circ.	PUMP TRUCK CHARGE 5 70.00 EXTRA FOOTAGE @
	MILEAGE 7 @ 4.00 28.00
CHARGE TO: Woolsey Oferating	@
STREET	TOTAL <u>5 98.00</u>
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT

To Allied Cementing Co., Inc.

You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

		TOTAL	
TAX			
TOTAL CHARGE -	Care		·
DISCOUNT		IF PAID	IN 30 DAYS

NESTON WILL BE CHARGED

UPON INVOICING

PRINTED NAME

RECEIVED KANSAS CORPORATION COMMISSION

OCT 2 2 2007

CONSERVATION DIVISION WICHITA, KS